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Find the wrong term in the given series  

1.  19 , 10 ,  12 , 24 , 75 , 304 , 1525 

(A)19 (B)10 (C)12 (D)1525 (E)75



\
Find the wrong term in the given series  

2.     31 , 57 , 123 , 245 , 491 , 981 , 1963

(A) 31 (B) 57 (C)981 (D)1963 (E)245



\
Find the wrong term in the given series  

3.     3569 , 3578 , 3592 , 3616 , 3656 ,  3729 , 3813

(A)3729 (B)3592 (C)3813 (D) 3569 (E)3656



\
Find the wrong term in the given series  

4.     569 , 571 , 577 , 589 , 619 , 639 , 681

(A) 681 (B)571 (C)569 (D)619 (E)639



\
Find the wrong term in the given series  

5.    729 , 1330 , 2196, 3374 , 4912 , 6851 

(A) 4912 (B) 2196 (C) 1330 (D)728 (E)6851



\
What value  should come in the place of question mark(?)in the following questions.

244.28 + 22.42 + ?    =  300

(A) 42.13 (B) 44.23 (C)33.3 (D) 31.7 (E)46.44



\
What value  should come in the place of question mark(?)in the following questions.

125% of 36 + 75% of 120   =  ?

(A) 145 (B) 130 (C)140 (D)125 (E)135



\
What value should come in the place of question mark(?)in the following questions.

? % of 450 + 1240 = 1600

(A)40 (B)60 (C) 80 (D)72 (E)75



\
What value  should come in the place of question mark(?)in the following questions.

124% of 3250 + 3/8 of  5712    =  ?² + 243

(A) 83 (B)73 (C)93 (D)87 (E)77



\
What value  should come in the place of question mark(?)in the following questions.

23³+ 52² − 17³    =  ?

(A)9458 (B)9958 (C) 9658 (D)9558 (E)None of these



\
Directions (Q. 11-14):- Direction for Question

Study the following table carefully and to answer the questions.

The number of HP and Lenovo laptops sold by a shopkeeper in 5 months of a year and 

the ratio of their cost price of the same month is given.

निम्ननिखित तानिका का ध्यािपूर्वक अध्ययि करें और प्रश्न ों के उत्तर दें। एक दुकािदार द्वारा
र्र्व के 5 महीिन ों में बेचे गए HP और Lenovo िैपटॉप की सोंख्या और उसी महीिे के उिके क्रय

मूल्य का अिुपात नदया गया है।

Month HP Lenovo Ratio of Their CP

January 180 210 5:4

March 310 279 3:4

May 560 480 6:7

July 644 575 7:8

August 616 672 11:9



\

Month HP Lenovo Ratio of Their CP

January 180 210 5:4

March 310 279 3:4

May 560 480 6:7

July 644 575 7:8

August 616 672 11:9

Q.11 :- The total cost of HP laptop sold in January is what % of the total cost of Lenovo 
laptop sold in January?
जिर्री में बेचे गए एचपी िैपटॉप की कुि िागत जिर्री में बेचे गए िेिनर्न िैपटॉप की कुि
िागतका नकतिा प्रनतशत है?

(A) 107 1/7% (B) 92 6/7% (C )97 1/7% (D)102 1/7% (E)None of these



\

Month HP Lenovo Ratio of Their CP

January 180 210 5:4

March 310 279 3:4

May 560 480 6:7

July 644 575 7:8

August 616 672 11:9

Q.12 :- The average number of HP laptops sold per month is. 

प्रनत माह नबकिे र्ािे एचपी िैपटॉप कीऔसत सोंख्या है।

(A)462 (B)492 (C)512 (D)442 (E)None of these



\

Month HP Lenovo Ratio of Their CP

January 180 210 5:4

March 310 279 3:4

May 560 480 6:7

July 644 575 7:8

August 616 672 11:9

Q.13 :- If the shopkeeper takes to sell 22% profit on HP laptops and 12% loss on Lenovo 
laptops in August and gets Rs. 679.448 lakhs, then the selling price per Lenovo laptop is.
यनद दुकािदार अगस्तमें HP िैपटॉप पर 22% िाभऔर Lenovo िैपटॉप पर 12% हानि बेचिे के
निए िेता है और उसे Rs. 679.448 िाि, तन प्रनत िेिनर्न िैपटॉप नबक्री मूल्य है।

(A) 39600 (B)42400 (C) 45000 (D)49400 (E)None of these



\

Month HP Lenovo Ratio of Their CP

January 180 210 5:4

March 310 279 3:4

May 560 480 6:7

July 644 575 7:8

August 616 672 11:9

Q.14 :- Find the ratio between the total cost of HP laptop and Lenovo laptop sold by the 
shopkeeper in July.
जुिाई में दुकािदार द्वारा बेचे गए एचपी िैपटॉपऔर िेिनर्न िैपटॉप की कुि िागत के बीच का
अिुपात ज्ञात कीनजए।

(A)7:25 (B)8:5 (C)49: 50 (D)49:25 (E)None of these



\

Month HP Lenovo Ratio of Their CP

January 180 210 5:4

March 310 279 3:4

May 560 480 6:7

July 644 575 7:8

August 616 672 11:9

Q.15 :- If the shopkeeper takes to sell 15% profit on HP laptops and 21% profit on Lenovo 
laptops in March and gets Rs. 12099300, then the selling price per HP laptop is.
यनद दुकािदार माचव में एचपी िैपटॉप पर 15% िाभऔर िेिनर्न िैपटॉप पर 21% िाभ बेचिे
के निए िेता है और रुपये प्राप्तकरता है। 12099300, तन प्रनत एचपी िैपटॉप का नर्क्रय मूल्य है।

(A)15250 (B)19750 (C)23000 (D) 18150 (E)None of these



\Directions (Q. 15-17):- Direction for Question Following pie chart shows the total 

number of employee in different cities in a TCS company and the table shows the 

percentage of male employee among them

प्रश् के निए निदेश निम्ननिखित पाई चाटव एक टीसीएस कों पिी में नर्नभन्न शहरन ों में कमवचाररयन ों

की कुि सोंख्या कन दशावता है और तानिका उिमें से पुरुर् कमवचाररयन ों का प्रनतशत दशावती है

15%

18%

22%
20%

12%

13%

Total no. of Employee = 8 lakh

Alipur

Bhopal

Channai

Dehli

Emphla

Firozabad

Cities % of Male 
Employee

Alipur 56%

Bhopal 48%

Chennai 52%

Delhi 44%

Emphla 49%

Firozabad 51%
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15%

18%

22%
20%

12%
13%

Total no. of Employee = 8 
lakh

Alipur

Bhopal

Channai

Dehli

Emphla

Cities % of Male 
Employee

Alipur 56%

Bhopal 48%

Chennai 52%

Delhi 44%

Emphla 49%

Firozabad 51%

Q.16:- What is the ratio between the number of female employees working in Firozabad to 
the number of male employees working in Emphal.
निरनजाबाद में कायवरत मनहिा कमवचाररयन ोंकी सोंख्या का इम्िाि में कायवरत पुरुर्कमवचाररयन ों
की सोंख्या से अिुपात नकतिा है?

(A)11: 13 (B)13:9 (C)9: 11 (D)7:12 (E)None of these
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22%
20%

12%
13%

Total no. of Employee = 8 
lakh

Alipur

Bhopal

Channai

Dehli

Emphla

Cities % of Male 
Employee

Alipur 56%

Bhopal 48%

Chennai 52%

Delhi 44%

Emphla 49%

Firozabad 51%

Q.17 :-The total female employees of Alipur is what percentage of total female employees of 
Chennai ?
अिीपुर की कुि मनहिा कमवचारी चेन्नई की कुि मनहिा कमवचाररयन ोंका नकतिा प्रनतशत है?

(A)65.2% (B)62.5% (C) 56.5% (D)48.5% (E)None of these
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Total no. of Employee = 8 
lakh

Alipur

Bhopal

Channai

Dehli

Emphla

Cities % of Male 
Employee

Alipur 56%

Bhopal 48%

Chennai 52%

Delhi 44%

Emphla 49%

Firozabad 51%

Q.18 :-Find the total male employees of Chennai, Delhi and Emphal together?

चेन्नई, नदल्लीऔर एम्िाि के कुि पुरुर्कमवचाररयन ोंकन नमिाकरज्ञातकीनजए?

(A)200960 (B)205960 (C)208160 (D)208960 (E)None of these
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Bhopal
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Dehli

Emphla

Cities % of Male 
Employee

Alipur 56%

Bhopal 48%

Chennai 52%

Delhi 44%

Emphla 49%

Firozabad 51%

Q.19 :-Find the difference between the total female employees of Delhi to that of total male 
employees of Bhopal?
नदल्ली की कुि मनहिा कमवचाररयन ोंऔर भनपाि के कुि पुरुर् कमवचाररयन ों के बीच का अोंतर ज्ञात
कीनजए?

(A)18560 (B) 16420 (C) 20480 (D)17890 (E)None of these
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Cities % of Male 
Employee

Alipur 56%

Bhopal 48%

Chennai 52%

Delhi 44%

Emphla 49%

Firozabad 51%

Q.20 :-If the percentage of working males and nonworking females of Delhi is 72% and 
34% respectively, then find the difference between the working males and working females 
in Delhi ?
यनद नदल्ली में कामकाजी पुरुर्न ोंऔर गैर-कामकाजी मनहिाओों का प्रनतशत क्रमशः 72% और
34% है, तन नदल्ली में कामकाजी पुरुर्न ोंऔरकामकाजी मनहिाओों के बीच का अोंतर ज्ञात
कीनजए?

(A) 8448 (B)8280 (C)8820 (D)8640 (E)None of these



\Q.21 :- The milk and water in two vessels A and B are in the ratio 4:5 and 3:2 respectively. 
In what ratio the liquids in both the vessels be mixed to obtain a new mixture in vessel C 
containing half milk and half water?
दन बतवि A और B में दूधऔर पािी का अिुपात क्रमशः 4:5 और 3:2 है। आधा दूधऔरआधा
पािी र्ािे बतवि C में एक िया नमश्रण प्राप्तकरिे के निए दनिन ों बतविन ों में तरि पदार्व कन नकस
अिुपात में नमिाया जाता है?

(A)9 :5 (B)7:9 (C)5:6 (D)6:7 (E)None of these



\
Q.22 :- Two person M and N invested in a business with 115000 and 75000 Rs. respectively. They agree that at 
the end of the year 24% of the profit should be divided equally among them and rest is divided between them 
according to their investment. If M got 4800 Rs more than N Then the total profit is. दनव्यखिM औरN िे एक
व्यर्साय में 115000 और 75000 रुपये के सार् निरे्श नकया। क्रमश। रे् इस बात से सहमत हैं नक र्र्व के अोंत में िाभ
का 24% आपसमें बराबर बााँट नदया जािा चानहएऔर शेर् कन उिके निरे्श के अिुसारआपस में बााँट नदया जाता
है। यनदM कनN से 4800 रुपये अनधक नमिे तन कुि िाभ है।

(A)39000 (B)30000 (C)33000 (D)36000 (E)None of these



\
Q.23 :- Discount given by a merchant on the marked price of goods is 25% more than the 
profit% earned on it. If discount is reduced by 20% profit is increased by 40% and 
becomes 28%. Find the actual cost price of the goods if the marked price is Rs 320.
एकव्यापारी द्वारा माि के अोंनकत मूल्य पर दी गई छूट उस पर अनजवत िाभ% से 25% अनधक है।
यनद छूट में 20% की कमी की जाती है तन िाभ 40% बढ़ जाता है और 28% हन जाता है। यनद
अोंनकत मूल्य 320 रुपये है, तन र्सु्त का र्ास्तनर्कक्रय मूल्यज्ञात कीनजए।

(A) 200 (B)220 (C)260 (D) 280 (E)None of these



\
Q.24 :- Mohan said to his brother when I was of  your age, you were 1/6 th of my present 
age . If sum of present ages of Mohan and his brother is 38 years, then what is age of Mohan 
?
मनहि िे अपिे भाई से कहा जब मैं तुम्हारी उम्र का र्ा, तुम मेरी र्तवमाि उम्र के 1/6 र्ें रे्। यनद
मनहिऔर उसके भाई की र्तवमािआयु का यनग 38 र्र्व है, तन मनहि कीआयुक्या है?

(A)28 (B)36 (C)24 (D)22 (E)None of these



\
Q.25 :- Ram and Rajan complete a project in 3 days. Mohan and Rohan complete the same project in 3 days. 
Rajan is 50% more efficient than Mohan and Rohan completes the project in 6 days. What is the ratio of time 
taken by Ram and Rohan together to the time taken by Mohan and Rajan together?
रामऔर राजि एक प्रनजेक्टकन 3 नदिन ों में पूरा करते हैं। मनहिऔर रनहि उसी प्रनजेक्टकन 3 नदिन ों में पूरा करते हैं।
राजि, मनहि से 50% अनधक कुशि हैऔर रनहि 6 नदिन ों में पररयनजिा कन पूरा करता है। रामऔर रनहि द्वारा
एकसार् निए गए समयका मनहिऔर राजि द्वारा एकसार् निए गए समय से अिुपात नकतिा है?

(A)3: 5 (B)5: 3 (C)3: 4 (D)4:5 (E)None of these
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